Polar Concepts Name:

1 Give the number of petals of each rose curve.
a) r=5sin® oo b) r=4cos6 9 N
¢ r=-7sinl2 ¢ 2+ d.) r=8cosl7 ¢ \ 1\
2, Match each equation with its description
a) r=6sin ¢ v 1. Cardiod
b.) r="7-sin ¢ '\ ii. Dimpled Limacon
) r=5-5cos 9 iii. Limacon with inner loop
d.) r=7csc ¥ b iv. Circle
e.) r-2+3sin ¢ i V. line
3. Explain how the graph of r = a + 2sin © changes as “a” increases from 0 to 5.
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4. The maximum r-value of a polar equation is the largest value of \¢\ among the pairs
(r, ) that satisfy the equation. .

5. Tell the kind of symmetry that each polar equation has if replacing (r, ) by the indicated
pair produces an equivalent polar equation. Choose from polar axis, y-axis, the pole or none

of these. ) n
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10.

GiVé thé rectangular coordinates of a point whose polar coordinates are (r, ).
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Give a formula for the polar coordinates with r> 0 and 0< ¢ <27 of a point whose
rectangular coordintaes are (x,y) located in the given quadrant.

a.) Quadrantl b.) Quadrant II
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c) Quadrant III d.) Quadrant IV
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Sketch and label the point. Qw * >
a.) (3,459
b.) (1, 1.5m)

c)  (-4,120%

d) (-2,m/3)

Find all the polar coordinates with -2nt< ¢ < 21 for the point whose rectangular coordinates
are (-2, 0). *¥ ~ &=~

Ca, ) C-a.0) (-2 -a) (ax) (-2 2w

Find the error in this student’s attempt to convert r = -5sin ¢ into rectangular form.

.r=-5sin® - ¢
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